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QUESTION 1
An OSPF database contains two router LSAs with identical link information indicating that one LSA is not valid. Which
action will immediately clear the invalid LSA from the network without waiting for the LSA to time out or resetting the

OSPF sessions on the router?

A. user@router# deactivate protocols ospf user@router# commit user@router# activate protocols ospf user@router#
commit

B. user@router> clear ospf database purge
C. user@router> clear ospf database
D. user@router> restart routing

Correct Answer: B

QUESTION 2

Click the Exhibit button.
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A LDP Layer 2 circuit is shown for VPN A and VPN B. LDP tunneling over RSVP is activated on P1 and P2. Referring to
the exhibit, which statement is true about the LDP Layer 2 circuit?

A. MAC learning is needed and using the inner VPN label between PE1 and PE2 for VPN A or VPN B.
B. Targeted LDP sessions are established between PE1, P1 and P2, PE2.

C. Label stitching must be configured on P1 and P2 for end to end transport LSPs.

D. LDP must be enabled on the loopback interfaces of PE1 and PE2.

Correct Answer: D
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QUESTION 3

Which three statements are true about the BGP community attribute? (Choose three.)
A. There are three well-known communities.

B. Communities can be used to signal local preference in other AS networks.

C. Only well-known communities can be passed between AS networks.

D. Routing policies can be simplified using BGP communities.

E. Communities are used in the route selection process.

Correct Answer: ABD

QUESTION 4

Click the Exhibit button.

AST

mesh-group

mesh-graup

In the exhibit, all routers within each AS are configured for Anycast RP. All intra-AS routers are configured within the
same MSDP mesh group. Inter-AS multicast has been enabled using MSDP without MSDP mesh groups. Which

statement is true?

A. The AS border routers allow TCP port 636 in their infrastructure ACLs.
B. Duplicate SA messages may be received in AS2.

C. SA messages from R5, R7, or R8 are not forwarded to AS1.

D. Inter-AS MSDP peerings must be configured on the AS border routers.
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Correct Answer: B

QUESTION 5

Click the Exhibit button.
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In the exhibit, network 172.16.0.0/16 is redistributed into I1S-IS in Area 49.0002. R1 must use R2 to access
172.16.0.0/16. All other traffic leaving Area 49.0001 must use R4.Which three steps will accomplish this task? (Choose
three.)

A. Configure R1 to ignore the attached bit.

B. Disable the attached bit on R4 in Area 49.0001.

C. Enable an L2 adjacency on the link between R1 and R2.

D. Leak network 172.16.0.0/16 into L1 on R2.

E. Redistribute a static default route into L1 on R4.

Correct Answer: ACD
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